Number and Place Value Knowledge Organiser

One More and One Less

One more than
two is three.

One less than
eight is seven.
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Ordering Comparing
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less than
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Lewis has the most. Olive has the fewest.
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Addition and Subtraction Knowledge Organiser
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4+ 6 =10 (14=20_6J 14 + 6 = 20
. 10-6 =4 ) 5 20-6 = 14 )
(olooee (0ooool looloele!
Ooeee oOolooo looeee
5+5=10 [20_5”0_6] 15 + 5 = 20
9 10-5=5 ) g 20-5 =15 )
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All Aboard! All Aboard! All Aboard!
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First Then
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I partitioned 4 into -~
1 and 3. I partitioned 5
9+1=10 into 2 and 3.
10 + 3 = 13 12-2=10
~ 10-3=7
L _
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| least | most
five TDTTB fifteen
l smallest l greatest
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eight TREERRRD eighteen
nine OLDDLDDOD | nineteen
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